
Factorisation d'Exposants (D)
Décomposez chaque exposants en facteurs.

77 =

63 =

21 =

612 =

92 =

76 =

81 =

911 =

29 =

712 =
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Factorisation d'Exposants (D) Solutions
Décomposez chaque exposants en facteurs.

77 = 7 × 7 × 7 × 7 × 7 × 7 × 7

63 = 6 × 6 × 6
216

21 = 2
2

612 = 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6

92 = 9 × 9
81

76 = 7 × 7 × 7 × 7 × 7 × 7

81 = 8
8

911 = 9 × 9 × 9 × 9 × 9 × 9 × 9 × 9 × 9 × 9 × 9

29 = 2 × 2 × 2 × 2 × 2 × 2 × 2 × 2 × 2
512

712 = 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7
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823 543

2 176 782 336

117 649

31 381 059 609

13 841 287 201


